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Section A {28 x 2 marks}

For questions 1 1o 28, choose the most suitable answer and shade its number (1, 2,30r
4) on the Optical Answar Sheet (OAS) provided.

Which of the following does not reproduce by spores?

(1) (2

@ | (4)

bread mould dandelion
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2 Siti wanted to keep a grasshopper as a pet. She thought of three possihle ways,

X, Y and Z to keep her grasshopper.

glass jar

lid with holes

giass jar grasshopper

leaf

lid without holes

glass jar — grasshopper

leaf —i¢e

Which of the following is correct?

Most suitable way to Least suitabie way to
keep the grasshopper keep the grasshopper
{1 X Z
(2) Y X
(3} A\ z
(4) F4 Y

Sc/ P56/ EYE / Bocklet A/ 2024 / Page 3 of 19
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3 Mei Ling classified three animals as shown below.

———e
frog
Yes
mcsquﬂo
What are questions A and B?
Question A Question B

{1) Does it have wings? Does it h?;ﬁ Stgree body

{2) Does it lay eggs? Does it have wings? -
[©@ | Dossithavewingsy | Does Itggk%?kl;ngsogétﬁ?

W] Dossitlayeggsr | e g of the

SCIP5fEYEIBmkIetAI2024FPBQB4of19
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4 The diagram below shows a plant with a part marked X.

Which of the following describe the functions of part X?

(1)
(2)
3
(4)

it hoids the plant upright.

o0 W >

A and C only
B and D only
C and D only
A, C and D only

it makes food for the plant.
it absorbs water for the plant.
It holds the plant firmly to the ground.

5 The diagram shows the human digestive system.

Which of the following is correct?

Digestion takes place Watz:;é?gaebsi:;b; 13)‘fjrom
(1) R, Sand T T
(2) RSandT U
(3) S, Tand U T
{4} Sand T - U

Sc/P5/ EYE { Booklet A /2024 / Page 5 of 19
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6 Studythe diagram below.

] flowers ]

A

L B
roots

C

Which arrows shows the correct direction in which water moves in a plant?

(1) A,BandEonly
() B,CandD only
(3) B, DandE only
(4) A, DandF oniy

7 The diagram below shows the flow of biood towards and away from-the smal|
intestine a few hours after a meal,

T smallintesting }——= _ ,

Which of the following correctly cofnpares the amount of carbon dioxide and
digested food found in the blood at P to that at Q7

carbon dioxide digested food
(1) more fess
(2) less less ]
(3) more more
{4) less more N

Sc/P5/EYE / Bookiet A 1 2024 / Page 6 0f 18
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8  The table shows the breathing rates of Ann and Belle during an exercise.

Breathiul—ié_rr:iaiieu(_t_}_—reaths per min)
Time (min)
Ann Beile

0 16 L 13
2 19 s
4 23 N 18
© 28 L2
8 34 27

Which statement is correct?

(1) Ann's breathing rate was slower than Belie's breathing rate.
(2) Ann breathed in more oxygen per breath as compared to Belle,
(3) Ann breathed out more carbon dioxide per breath as compared to Belle.

{4) Ann's breathing rate increased more than Belie's breathing rate during the
exercise.

9  Which of the following about the lungs and gills is correct?

(1) Both transport oxygen to different parts of the body.

(2) Exchange of gases takes place in the lungs and gills.

(3) Oxygen is removed from the body by the lungs and gills.
(4) Carbon dioxide is taken into the blood in the lungs and gills.

10 Amelia observed an animal cell under a microscope before and after placing it
into a liquid containing substance X. The observation of the cell is shown below.

key
O o O O : substance X
————— e
c@ o
before after

Which cell part allowed for the movement of substance X into the cell?

(1} nucleus

(2) cell wall

{3) cytoplasm

(4) cell membrane

Sc/ P5/EYE ) Booklet A/ 2024 [ Page 7 of 18
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11 The graph shows the length of time for each stage in the life cycle of insect T

number of days
4

12

10

8
6
4
2
0

stages

larva

egg pupa

—How many days does it take for insect T to reach the adult stage after the egg
has hatched? - '

(1 13
(2) 16
(3) 19
{4) 28

12 The graph below shows the changes in the mass of a young plant and its seed
Jeaves during germination. ' o

# - mass (g)4 young plant

seed leaves

» day

Which of the following best explains the changes inrt_he graph?

(1) The leaves first appear around day 3.

(2} The roots grow out first followed by the shoot.

(3) The young piant only starls to grow after day 3.

{(4) The seed leaves provide food for the young plant until day 3.

ScfPSfEYEfBookietAfZOM!Pagech‘lS




13  The diagram shows the fertilisation process in human reproduction.

L
T sperm
egg J—’ ‘1

Which statement about fertilisation is correct?

{1) Many sperms can fuse with the egg.

(2) The fertilised egg develops in the ovary.
(3) Fertilisation takes place in the male body.
(4) Only one spem is needed for fertilisation.

14 The diagrams below show the male and female human reproductive systems.

W_hic;h parts of these systems produce reproductive ceils?

(1) AandC
(2) AandD
(3) BandC
(4) BandD

S4/ P5/EYE ) Booklet A/ 2024 / Page 6 of 19
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15  Tom conducted an experiment using some similar seedlings over a period of
two weeks. The table below shows the variables and results.

Average heith’
Type of soil Amount of Numb_er of of seedlings
Pot used water used seedlings after 2 weeks
daily {cm?3) planted

= : {cm)
P |  sandy soil 150 10 4.5
Q | garden soil 300 20 7.5
R | garden soil 150 20 4.5
| S | garden soil 300 10 5.5

Based on Tom's experiment, what isfare the possible aim(s) of his experniment?

A To find out if overcrowding affects the average height of .

seedlings.
B To find out if the type of soil affects the average héight of
seedlings.
G To find out if amount of water added affects the average height
of the seediings.
(1) Aonly
(2) AandConly
(3) BandConly
(4) A BandC

Sc!FﬁfEYEIBOdd&lA!ZOZdiPBge‘lﬂDHQ
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16 Maria designed a rcusable face shield as shown in the picture below.

Which material is most suitable for making part S of the face shield?

i Property
Material strong waterproof a,::.?;;it::-%r:.tgtg
M A * * z
) B v x Y
(3) c d Y *
(4) D Y Y

Key
v . yes
X 1 Nno

17  Atigah set up the following experiment in a dark room. The light sensor on the

screen gave a reading of 50 units.

torch

light sensor

metal block

screen

As Atigah moved one object in the sef-up, the length of the shadew increased
and the reading on the light sensor increased slowly to 120 units and then

dropped to 0 units suddenly.

"Which object did Atiqah move and in which direction?

(1) screen towards metai block
(2) torch towards the metal block
(3} screen away from metai block

(4) wmetal block away from the screen

Sc/PS/EYE [ Booklet A/ 2024 / Page 11 of 18
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18 Sue-looked into a wooden cupboard as shown.

wooden
Q/

cupboard

= toys

Which statement explains why she can see the glass?

(1) Light is blocked by wood.

(2) Light is reflected from the toys.

(3) . Light passes through the glass easily.
(4)  Some light is reflected from the glass.

19  Rosie heated three beakers of water in the room as shown below. The water in
each beaker was heated untif it was boiling. :

Which of the following statements s true about the water in the set-ups at the
end of the experimeni?

{1} The waterin set-up R had the most heat.

{2} The water in sef-up T had the most heat.

{3) The water all three set-ups had the same amount of heat.

(4) The waterin set-up R had more heat than the water in set-up S.

SciPS!EYEIBmkIBtAIZOZdIPage 12ef 19
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20.  There are gaps between railway tracks as shown below

gaps

On a hot day,_the-gaps allow the railway tracks to

(1) gain heat and expand
(2) gain heat and contract
(3) lose heat and expand
(4) lose heat and contract

S/ P5/ EYE { Booklet AJ 2024 / Page 13 of 19



21 Ming Hui made three magnets using the strokin
identical rods, A, B

bar magnet to stroke three
times in the same direction,

g method. He used the same
and C, for different number of

e,
g

L rod A

He brought each rod close 1o

at which the paper clip was
below.

a paper clip and measured the furthest distance
attracted, d. His results are shown in the tabig

Rod

Distance at which the paper clip
was attracted, d (¢m)

13

ra)

Which of the following graphs correct!
was stroked with the bar magnet?

()

number of
strokes

4

S —

B rod
(3) number of
strokes
4
—
A B C rod

ScfPﬁ!EYE!BDokIetA!ZO%JPage 14 of 19

y shows the number of times each rod

(2) number of
strokes
4
A B C rod
) number of
strokes
F
H
A B C rod
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29 Acompass has a small magnet that can rotate freely as shown.

north pole of
small magnet

Three bar magnets were arranged such that they were attracted to one another.
A compass was then placed near end X and the direction of the compass

needle is as shown.

X — compass

AN

What would be the direction of the needle when the compass was placed at Y?

(1) (2)

(3) (4)

8¢/ P51 EYE ! Booklet AJ 2024 / Page 15 of19
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23 An cbjectis placed

What is the volume of the object?

(1)
(2)
&)

4)

water

BP-~885

in a cylinder of water as shown below.

object

15 cm®
20 cm?
25 cm?®
40 cmB

24 Syafiq put a packet of coffee into a mug without overflowing as shown.

Which of the followin

a packef of coffee

mug

g about the volume and shape of the packet of coffes is

correct?
Volume Shape
(1) changed - - changed
(2) changed remains the same
{3) remains the same changed
(4) remains the same remains the same '

Sc!PSFEYE(BmkletAI2024{Page 16 of 19
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25 A black of ice at 0 °C was placed in an empty glass and left in the classroom.

ice
lass

water

What will happen after some time?

(1) The temperature of the biock of ice increases.:
(2) The temperature of the block of ice decreases.
(3) The temperature of the water around the block of ice is 0 °C.

(4} The temperature of the water around the block of ice is less than 0 °C.

26 The diagram below shows a fan which blows out water droplets at room
temperature to cool the surroundings.

water droplets

Which of the following best explains how the fan cools the surroundings?

(1) The air in the surroundings gained heat from the water droplets.

(2) The water droplets lost heat to the surrounding air and evaporated.

(3) The water droplets gained heat from the surrounding air and condensed.
(4) The water droplets gained heat from the surrounding air and evaporated.

Sc/P5/ EYE ) Booklet A f 2024 / Page 17 of 18



27 The diagrams below show a circuit tester and the top view of a circuit card with
four paper clips, P, Q. Rand S, attached 1o the circuit card. The paper clips are
connected using wires on the underside of the circuit card,

P

“fk——-.x T

SCD G:[D Q

v Nj

R

When Riley connected the circuit tester to the various paper clips, he recorded
the results in the table below.

Paper clip connected to Paper clip connected to | Did the bulb light
X Y up?
P S yes
Q R no
Q S no
R S yes ]
Which of the following connections on the underside of the circuit carg is

possible?

(1) (2) P
M-

P
. N
3£q:30 S C aoH G
i
R
P
mn
Y
R

)

(3) 4)

.
sdaj/g > Q

"3& | S G

D }:31: X C

SclPSIEYEIBOdd&{AIM‘HFaQB 18of19
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28 Jason set up four circuits using identical bulbs and batteries as shown.

in which circuit will bulb M be the brightest?

(1) 1) (2) [+
__®__
Y
® M
R
M
(3) ] @ |+

Co® | o

End of Section A

S¢ /P51 EYE ! Booklet A7 2024 } Page 13 0f 19
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Section B (44 marks)
For questions 29 to 40, write your answers in the spaces provided.

29 Henry camried out an experiment to study the growth of mould. He kept three similar
fresh strawberries in three identical glass jars as shown below.

strawberry A strawbemy B strawberry C
(kept at 30 °C) (kept at 20 °C) (kept at 10 °C)

He measured and recorded the amount of mould growing on each of the
strawberries over ten days. His results are shown in the graph below.

amount of §
mould 1] //, strawberry A
/’_/. - | strawberry B
B |~ - .
- A R R o strawberry C

0 1 2 3 4 5 6 7 8 9 1p Number of days

(a) Based on his results, what can Henry conclude about the effect of temperature
on mould growth? 1]

(b) Henry repeated his experiment with Wwo other similar fresh strawberries, D
and E, kept in identical air-tight glass Jars as shown below.

substance to remove
carbon dioxide

substance to
remove oxygen

strawberry D strawberry
{(kept at 20 °C) {kept at 20 °C)

He observed that mould grew on strawberry E after a few days, but not on
strawberry D. :

Based on his observations, state one condition that mould needs for growth.

(1]

SCORE

Sc/F57EYE f Bookiet B/ 2024 / Page 2 of 17
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(c} Henry read that fresh fruits tumn mouldy faster when kept with a mouldy fruit.
He wanted to investigate if this is true.

Henry prepared two set-ups for his investigation,
Compilete the table below by stating the items that he should use in set-up 2
to carmy out his experiment correctly. {1

Set-up 1 Set-up 2

1 glass jar

1 fresh strawberry

1 mouldy strawberry _}

(d) State how moﬁ!d reproduces. 1

SCORE

SclPﬁ!EYEIBﬂokle{BIZOIMfFaga30f17




30 (a) State whatdigestionis. 1]

{(b) Benny conducted an experiment with the two set-ups shown below.

_:_: '''''''''''''''''' - liquid contaihing ——n 100 g
100 g digestive juices : of food cut
of food R L e giel - rintg i:rrlweanller
S

set-up A set-up B

Benny compared the amount of undigested food in the two set-ups after one
hour. His results are shown below.

Set-u Exposed surface area of | Amount of undigested food
P food (cm?) left after one hour (g}
A 120 80
B 180 50

Benny's mother told him that for better digestion, he should chew his food
before swallowing.

Based on Benny's experiment, explain how chewing food before swallowing
helps in digestion. 2]

BP-892

SCORE
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31 Jack put a plant into a beaker of red-coloured water.

layer of oil

- plant

red-coloured
water

beaker

After one day, the leaves and flowers of the plant turned red. Jack cut the stem, The
diagram below shows a section of the stem

€ € stained red

(a) Name the part of the stem that was stained red and state its function, [1]

(b} Jackwanted to find out if the number of leaves on the plant affects the amount

of water taken in by the plant. He used three similar plants and three identical
beakers with the same amount of red-coloured water,

() State the variable that Jack should change in his experiment, [1]

(i} Suggest what Jack should measure to obtain the resuls.

SCORE
Sch’SfEYE/BOOHetBIZDZdIPage50f1?

BP-~893




BP~894

32 Sam wanted to find out if the upper or lower surface of he leaf of plant A has more
stomata.

He conducted an experiment by clipping dry pieces of paper X to the upper and
lower surfaces of a leaf of plant A as shown below.

paper X on
lower suiface

........ 1™ &

RN “) 5#2

‘!’

~

paper X on
upper surface

Paper X turns pink when wet. When more water is present, its colour changes more
quickly.

(a) After two hours, Sam observed that both pieces of paper X turned pink.

Give a reason for his observation. (1

(b} Sam compared the time taken for both pieces of paper X to turn pink. He
concluded that the teaf of plant A had more stomata on the lower surface than

on the upper surface.

What observation would show that his conclusion was correct? il

SCORE

Sc/ PS5 EYE / Booklet B / 2024 { Page 6 of 17
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{¢) Sam conducted another experiment uging three similar leaves, R, S and T,
from plant A,

He coated one of the surfacas of leaves § and T with oil that did not drip. Each
leaf was weighed and then hung up in an open area as shown below.

F &

R S T
no oil oil on oil on
upper surface lower surface

| S———

After five hours, he weighed each leaf again.
The graph below shows how the mass of the leaves éhanged after five hours,

Based on his conclusion in {b), fillin R, Sand Tin the boxes provided to match
. -each leaf to its mass, (1]

mass of leaves (g)

i F Y

p——
P—
[———

-+ time (hour)

SCORE

SGIF‘SIEYE!BoaklalBlZO24fPageTof‘l?
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33 Fruits are formed from the flowers of a plant as shown below.

(a) State the two processes of reproduction that have taken place. [1]

{(b) The diagram below shows fruits X and Y.

wing-like
structure

(i State one advantage of the method used by fruit X to disperse its seeds
as compared to that of fruit Y. 11

SCORE

Sg /5 /EYE { Booklet B f 2024 { Page B of 17
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(i} A farmer conducted an experiment to find
of sumoundings on the time taken for fruit
the seeds are dispersed from the parent
the resuits of the experiment.

out the effect of temperature
Xto split and the distarice that
plant. The graphs below show

lime taken for 4

frult X to split
(days)
0 25 30 temperature of
surroundings {°C)
distance that the
_ seeds are
dispersed (m)
0 25 30 35 temperature of

surroundings (*C)

Based on the results of his ex

periments, explain how an increase in the
temperaturs of the surroundin

gs helps fruit X fo disperse itg seeds better.
2]

SCORE
ScfPSiEYE!’BooMetBJEDZ'%IPageSnf‘!?




34 Jiawei carried out an experiment to compare three similar strips made of different
materiais, A, B and C. He measured the distance, d, at the middle of the strip after
adding each weight.

His results are shown below.

distance, d

(mm}) .

80 =

75 B

~——_|
70
\

65 ~=d

o

/

60 B
55

A
50 b weight (g)
o 50 100 150 200 250 300 350 400

(a) State the relationship between distance, d, and the weight added on the strip.
[1]

(b) State one variable of the strip that was fixed so that the experiment was a fair
test. [1]

BP~898

SCORE
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(c) The diagram below shows 2 coiled water hose.

{i} Based on Jawai's experiment, which materia!, A,

B, or C, is most
suitable for making the water hose? Explain your answer. [1]

{(ii) State another property of the material that makes it suitable for making
the water hose,

[1]

SCORE
SG/£5/EYE { Bookiet B/ 2024 / Page 11 of 17 S
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35 (a) Statewhattemperatureis. 1

(b) Joe conducted an experiment using set-ups X and Y as shown below. He
wrapped a glass beaker with material M and another identical glass beaker
with material N. He filled both beakers with the same volume of hot water at

90 °C.
thermometer
plastic lid _
1 I
material M hot water E:'é:é}___g;gf:Eg:-—maten'al N
T '\-'.F

Joe measured the temperatures of the water at different times and plotted his
results in the graph shown below.

temperature of water (°C)

70

)
\

40 <

0N

201X

10 [

05 70 15 20 25 fime (min)

(i) Why did the temperature of water decrease in both set-ups over time’

[1]

(i) Whatcan Joe conclude about how the temperature of the water changes
with time in set-up X compared to that in set-up Y7 [1]

SCORE

S/ Ps/EYE f Baoklel 8 f 2024 [ Page 12 of 17 -
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(i) Material M in set-up X was used to make a jacket. This material hag
small air spaces inside it.

Explain why the air spaces in material M helps to keep a person wearing
the jacket warm in cold weather. [1]

36  Allen was given two similar rods, P and Q. One of the rods was a magnet and the
other was a magnetic material, He wanted to find out which rod was a har magnet.

Allen arranged the rods as shown in diagram 1. He found out that there was weak
attraction between the rods. When he rearranged the rods asg shown in diagram 2,

the attraction between the rods was strong.

{aj.

(b)

c D | Q

' weak strong
o attraction ;-_i T.'zwttra‘cﬁc'n
Q P
o
Diagram 1 Diagram 2

Based on his observations, which rod, P or Q, is the magnet? Explain your
answer, {2}

Allen was given another bar magnet, .

Describe what he should do to confirm that the rod chosen in (a}is the magnet.

[2]

SCORE { !
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37 The diagram below shows a device using a light sensor and a light source to count
the number of visitors passing through the entrance of an exhibition hall.

![3\ light

sensor

light /E

source

As the visitors pass between the light source and the sensof, they block light from
reaching the sensor. The data recorded is shown in the graph below.

brightness
(unit)

» lime
0 5 10" (seconds)

(a) Based on the graph, how mahy visitors entered the half in 10 seconds?  [1}

{b) State a property of light used by the device to count the number of visitors. [1]

{c) The disadvantage of the device is that it may count fewer visitors than it
should.

State how this is possible. [1]

BP-~902

SCORE
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38 Jim filled a plastic syringe with 80 cm? of substance K. He sealed one end of the
syringe. He then loaded weights on top of the piston as shown below.

weight

piston

substance K

For every weight he added, he recorded the volume of substance K in the syringe.

The table below shows the results,
Weights added {g) Voiutr:: :;rsl::;:t(z;n;g Kin
0 80
50 66
100 54 o
150 47 ]

(a) (i) Based on the results, how did the weights added on the piston affect the
volume of substance K in the syringe? ’ [1]

(ii) State how the mass of substance K changes when the piston was
pushed down by the weight. - [1]

(b) Jim repeated the expsriment by fitling 80 cm?3 of water in the sealed syringe,

What could be the volume of water i'n the syringe when a 150 g weight is
placed on top of the piston? ) [1]

{c) Give areason for your answer in (b). (1]

SCORE

Sc(PS!EYE!BonklelB!ZOZMPage15071?




39 Ibrahim heated some sea water and poured equal amount into two identical
containers. He placed two similar cones, made of plastic and metal, over the
containers of hot sea water. After an hour, he observed some clean water

collected at the base of each cone as shown.

metal cone plastic cone

clean hot sea clean hot sea
water water water water
(a) Explain how the clean water was collected. [2]

BP-904

(b} Ibrahim observed that there was more clean water collected in the metal
cone than in the plastic cone. Explain his observation. 1]

SCORE
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40 Taylor set up a circuit as shown. When he closed the switch, the bulb Iit up brightiy.

/1 ~{1 |

iron rod

_ metal bar A
metal bar X

When Taylor added another battery to the circuit and clos

that metal bar X moved away from metal bar A and tou
The bulb did not light up.

ed the switch, he observed
ched the iron rod as shown.

metal bar X

(a) Explain why bar X mo

ved towards the iron rod when Taylor added another
battery to the circuit.

[2]

(b} State two properties of the material of metal bar X that aliow the circuit to work.
[2]

{c) Explain how Taylor's circuit would help to

prevent the bulb in the circuit from
fusing when too many batteries are added '

: "]

End of Section B

sconj
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rimary 5/

29 a) | Concept: Observation of trend from line graph.

From graph: @‘Q |
Thé. amount'an mould R increased for all 3 tempera
were kept at,

(arowth of mould = increase in the amount of mould)

amount of 4 j ' .
mould strawberry A (30'°C)
,// ——| Strawberry B:(20 2C)
_// r.] - - i
el O e T N strawberry C (10°C)

01 2 3 4 5 6 7 3 9 10numbf-:‘rc:n'days

You need to compare the growth of the mould, not the amount.

tures that the strawberries

= —

b) | Goncept: Conditions needed for mould to grow.

strawberries wers kept at the same temperaturs, thus
of warmth.

As the temperature increases, the mould growth inqregﬂses_.

From the diagram, mouid only grew on strawberry D which has oxygen. Both

]

they have the same amount

Mould needs oxvgen to grow.

C} | Process skill: Sefting up a fair test (identi

a mouldy fruit,

Changed variable: Presence of mouldy fruit

fying changed variable from aim). ,
Alm of the experiment to find out if a fresh fruif turns mouldy faster when kept with

Set-up 2:

1 of"z"i-.'fres‘h strawberry and 1 glass jar

d) | Concept: Moutd reproduces by spores.

Mould reproduce by spores.

]

30 a) ; Concept: Digestion is the process where food is broke
_ substances to be absorbed into the bicodstream.

n down into simpler
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Digestion is the breaking down of focd into simpler substances that can be

absorbed into the bloodstream.

. digested faster.

Concept: Food cut into smaller pieces have larger exposed surface and can be

The food In set-up B have larger surface area in contact with the digestive juices,

thus the food can be digested faster when we chewed our food into smaller

pieces.

31 a)

Concept: Function of water-carrying tubes.

Name: water-carrying tubes

Function: Transport water from the roots to ail parts of the plant

iY Process skill: Fair test — identifying changed variable

Number of leaves on the plant

Process skill: Fair test — identifying measured variable

Measure the amount of water left in the beakers after a fixed period of time/ at the

end of the experiment.

32 a)

Concept: Function of stomata

The leaves lost water vapour through the stomata.

Note: The stomata are tiny openings on the leaves. They do not release water
vapour. They allow water vapour to leave through them.

b)

Process skill: Predicting observation based on conclusion

Since the leaves have more stormata on the lfower surface, more water vapour is
fost from the bottom surface.

Paper X on the bottom surface of the leaf turned pink more guickly than thét on.

the upper surface.

Process skilfs: Interpreting data from graph
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mass of leaves (g)

1

__?r.___.‘

S
R

t | ' — time (hour)

33 @) | Concept: Processes in reproduction in flowering plants

Bollination and fertilisation

bX(i} | Concept: Advantage of dispersal b Y explosive action/ splitting of fruit

The. §eed of fruit X can be dispersed by the fruit itself and doe_ not‘de end on

other external factors such as wind.

b)ii} | Process skilf: !nterpreting data from graph,

Point 1: State the relationship of temperature and time taken for fruit to spiit,

When the temperature | Increases, fruit X takes s shorter: time to sgh

Point 2: State the relationshlp of temperature and distance that the seeds are
dispersed.

L The $esds of fruit X are dispersed further from parent piant,

34 a)| Process skill- fdentifying refationship between variables.

General structure to answer relationship questions:

As the <cause> increases, the <effect> increases/ decreases,

As the walght added increases, the distance d decreases.

]

' b)| Process skill: ldentifying fixed variables.
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State the factors of the strip that will affect the results of the ékpef:f}nent?f!exfbiﬁty of the
strip). e

thickness of the strip

length of the strip

c)i) Concept: Relating the use of the materials to their physical properties.

A material needs to be flexible to alfow it to be coiled.

A. It bent the most when weights were added on it. / It is the most flexible.

c)(il)l Concept: Relating the use of the materials to their physical properties.

A water hose needs fo be waterproof,

It is waterproof.

35 a)| Concept: Temperature is a measurement of how hot an object is.

Temperature is a measurement of how hot an object is.

b)(i) Concept: Temperature of a substance decreases when it foses heat to its surroundings.

The hot water lost heat to the surroundings.

(i) | Process skill: Interpreting data from graph. ;
X hompeiate (0ses  heat at X wgtoc
1]

oy et
The temperature (of water) in set-up Y decreases faster than that in set-up X. l;éﬂ &écw

(i) | Concept: Poor conductors of heat alfow heat to flow through less easily / slowly.

Air is a poor conductor of heat, so it can reduce heat loss from the person’s body (to the

surroundings).

36 a) Concept: The pull (or atiraction) of a magnet is strongest at its poles.

|
-

RodP. .

Point 1: Describe observation from experiment.
When end A of rod P was brought to the centre of rod Q, the force of attraction was

stronger than that in diagram 1

Point‘z:' State that the poles have the strongest magnetic pull.
The pull of magnets is strongest at its poles.

b) Concept: Only magnets can repel each other when the like poles are facing each other.
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! Point 1: Describe the action

He should bring the one pole of the bar magnet close to ends A and B of rod P.

It either end A o B.renels the bar miagnet, rod P muist be a magnet

Point 2: Describe the observa tion to confirm thatrod P is a magnet

37 &) Concept: Light travels in a strajght fine,

When a visitor is between the light source and the sensor, he blocks the light from
reaching the sensor. The fight sensor will no detect any light and the reading is units.

5 visitors

b)i Light travsls Ingtralght (ines, -

¢)_Concept: Light can be partially or completely blocked p y ah object,

The visitors may walkg ide by-side when entering.
OR
Visitors who are shorter than the height that the light sensor is placed

will not be counted.

38 a)(i}} Process skill: Identifying relationship between variabls,
General structure to answer relationship questions:

As the <cause> increases, the <effect> increases/ decreases,

As the weights added on the piston increases, the volumie if

syringe decreases.

substance K in the

(i)} Concept: Mass of substance remains even as Its volume changes.

The mass of substance K remains the same.

b)| Concept: Liquid has g definite volume

80 cm?

¢)| The water (in the syrihge) cannot be compressed/ has a definite volume.

39 a)| Concept: Condensation fs a change in state of water from g gasto ali

quid dus to heat joss,
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Chack for ST3P

The hot sea water evaporated to form warm water vapour. =
The warm water vapour touched the cooler inner surface of ?_
the cone, lost heat and condensed Into tiny water droplets. Pi

>

|

b)

Concept: Metals are good cohducfors of heat. Plastics are poor conductors of heat.

Metal is a better conductor of heat so water vapour can condengse faster.

40 a)

Concept: Number of batlerles In serles affects strength of electromagnet.

The iron bar becama a stronger electromagnet and altracted bar X.

b)

For the circuit fo work:

- the circuit must be closed when metal bar X Is touching mefal bar A,
- metal bar X can be attracted by the electromagnet.

Bar X Is an elgctrical conductor and is a magnetic material.

The circult is open/ Current cannot flow through the circult when bar X is atfracted fo the

alectromagret.
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